SIGNATURE PAGE

RFQ# F-24-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Sidra Medical Supply, Inc.
	(PRINT)
Preparer's Name:	Muhammad Momen
Signature:	(PRINT)
Address:	474 Meacham Avenue, Elmont, NY 11003
Telephone No.:	(516) 226-3449
Fax No.:	(516) 706-6026
E-Mail Address:	admin@sidramedicalsupply.com
	(This should be the email where Contracts would be sent)
Contact Person:	Muhammad Momen
FEIN:	
(Federal Employee ID)	

County of Wonmouth

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728

(732) 431-7370 Fax (732) 431-7379

KFB# F-24-2024

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH **DECEMBER 31, 2024**

RFB must be r	received no later than:	October 18, 2023	10:30AM		
For Delivery to	o: Various Delivery Location	ons. See Details Below.			
Delivery Date:	1/	1/2024 - 12/31/2024			
ITEM#	DESCRIPTION		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
GLOVES - NO L	ATEX PRODUCTS - RUBBER, F	POLY, NITRILE			
1 LINED R	UBBER GLOVES, SIZE: SMALL		100 PAIR(S)	1.15	115.00
Packaş MFG/E Produc Varian	Brand: Emerald				
2 LINED R	UBBER GLOVES, SIZE: MEDIU	M	136 PAIR(S)	1.15	156.40
Packa MFG/E Produc Varian	Brand: Emerald			<u> </u>	-
3 LINED R	UBBER GLOVES, SIZE: LARGE		148 PAIR(S)	1.15	170.20
Packaş MFG/E Produc Varian	Brand: Emerald			<u> </u>	
4 POLY DI NO POW	SPOSABLE GLOVES,1.25 MIL., VDER	SIZE: MEDIUM,	2,200 GLOVE(S)	0.01	22.00
Packaç MFG/E Produc Varian	Brand: Emerald			L	

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	POLY DISPOSABLE GLOVES, 1.25 MIL., SIZE: LARGE, NO POWDER	2,200 GLOVE(S)	0.01	22.00
	Packaging: 500 Gloves/Box		<u> </u>	
	MFG/Brand: Emerald	-		
	Product No: HDPB500			
	Variances, if any:	,		
6	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (S) SMALL, NO POWDER	12,002 GLOVE(S)	0.05	600.10
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS			
	Packaging: 100/Box, 10Box/Case			
	MFG/Brand: Emerald			
	Product No: 2086			
	Variances, if any:			
7	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (M) MEDIUM, NO POWDER	12,300 GLOVE(S)	0.05	615.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS			
	Packaging: 100/Box, 10Box/Case			
	MFG/Brand: Emerald		0.05	
	Product No: 2087			
	Variances, if any:	· -	0.01	
8	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (L) LARGE, NO POWDER	12,300 GLOVE(S)	0.05	615.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS	•		
	Packaging: 100/Box, 10Box/Case			
	MFG/Brand: Emerald	·		
	Product No: 2088			
	Variances, if any:			
9	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (XL) EXTRA LARGE, NO POWDER	388,200 GLOVE(S)	0.05	19,410.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM			

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31. 2024

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:	100/Box, 10Box/Case			
	MFG/Brand:	Emerald			
	Product No:	2089			
	Variances, if a	any:			
10		SABLE GLOVES, 5 MIL., SIZE: (XXL) LARGE, NO POWDER	42,100 GLOVE(S)	0.05	2,105.00
	**SAMPLES RE	QUIRED AT TIME OF BID FOR THIS			
	Packaging:	85/Box, 10Box/Case		<u> </u>	
	MFG/Brand:	Emerald	<u></u>		
	Product No:	2090			
	Variances, if	any:			
11	MEDICAL GRAI UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROU SIZE: XS	QUIRED AT TIME OF BID FOR THIS	2 GLOVE(S)	No Bid	
12	MEDICAL GRAI UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROU SIZE: S	IISH D	2 GLOVE(S)	0.05	0.10

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH

TEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:	100/Box, 10Box/Case			
	MFG/Brand:	Emerald	_		
	Product No:	1082			
	Variances, if a	ny:	_		
13	NITRILE DISPO	SABLE GLOVES, BLACK, 5 MIL.	200 GLOVE(S)	0.05	10.00
	MEDICAL GRAD	DE/ FOOD GRADE		ļ	
	UNPOWDERED				
	9.5" LONG			ļ	
	TEXTURED FIN	IISH ·		ŀ	
	FDA APPROVE	D			•
	AMBIDEXTROU	IS		İ	ł
	SIZE: M				
	**SAMPLES RE	QUIRED AT TIME OF BID FOR THIS			
	ITEM				<u> </u>
	Packaging:	100/Box, 10Box/Case	<u></u>		
	MFG/Brand:	Emerald			
	Product No:	1083	·	•	
	Variances, if a	nny:	_		
14	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL.		300 GLOVE(S)	0.05	15.00
	MEDICAL GRAD	DE/ FOOD GRADE			
	UNPOWDERED	•			ł
		•			
	UNPOWDERED				
	UNPOWDERED 9.5" LONG	ush			
	UNPOWDERED 9.5" LONG TEXTURED FIN	O NSH D			
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE	O NSH D			
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROU SIZE: L	O NSH D			
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROU SIZE: L **SAMPLES RE ITEM	O UISH D US			
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROL SIZE: L **SAMPLES RE ITEM Packaging:	IISH D IS QUIRED AT TIME OF BID FOR THIS 100/Box, 10Box/Case Emerald	·		
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROU SIZE: L **SAMPLES RE ITEM	OUIRED AT TIME OF BID FOR THIS	· ·		
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROL SIZE: L **SAMPLES RE ITEM Packaging: MFG/Brand:	IISH D IS QUIRED AT TIME OF BID FOR THIS 100/Box, 10Box/Case Emerald 1084	·		
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROU SIZE: L **SAMPLES RE ITEM Packaging: MFG/Brand: Product No:	IISH D IS QUIRED AT TIME OF BID FOR THIS 100/Box, 10Box/Case Emerald 1084	·		
	UNPOWDERED 9.5" LONG TEXTURED FIN FDA APPROVE AMBIDEXTROU SIZE: L **SAMPLES RE ITEM Packaging: MFG/Brand: Product No:	IISH D IS QUIRED AT TIME OF BID FOR THIS 100/Box, 10Box/Case Emerald 1084	·		

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH

DEC	EMBER 31, 2024	·		
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
15	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL. MEDICAL GRADE/ FOOD GRADE UNPOWDERED 9.5" LONG TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: XL	300 GLOVE(S)	.05	15.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS			
	ITEM Packaging: 100/Box, 10Box/Case		<u> </u>	
	MFG/Brand: Emerald			
	Product No: Variances, if any:	_		
16	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL.	100 GLOVE(S)	No Bid	T
	MEDICAL GRADE/ FOOD GRADE UNPOWDERED 9.5" LONG	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
	TEXTURED FINISH			
	FDA APPROVED AMBIDEXTROUS			1
	SIZE: XXL			
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM			
	Packaging:	_		
	MFG/Brand: Product No:	·		
	Variances, if any:			
17	NITRILE DISPOSABLE GLOVES, BLACK, 6 MIL. (MINIMUM THICKNESS THROUGHOUT, NO EXCEPTIONS) EXAM GRADE NON-LATEX	1,200 GLOVE(S)	0.07	84.00
	POWDER FREE			1
	BEADED/TEXTURED GRIP HEAVY DUTY/INDUSTRIAL/AUTOMOTIVE SERVICE SIZE: LARGE			
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM			

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
Packaging:	100/Box, 10Box/Case	_		
MFG/Brand				
Product No	6102			
Variances,				· ·
	100/Box, 108ou/Case Emerald 6102	T 4 007 00		
		27,100 GLOVE(S)	0.07	1,897.00
			- 1	
EXCEPTION:	S)			
EXAM GRAD	E		ľ	1
NON-LATEX				· I
POWDER FR	EE		İ	ŀ
BEADED/TEX	(TURED GRIP	•		
HEAVY DUT	Y/INDUSTRIAL/AUTOMOTIVE SERVICE		 	
SIZE: X-LAR	GE .	·	ĺ	· ·
***************************************	SECURDED AT THE OF DID FOR THE			
ITEM	REQUIRED AT TIME OF BID FOR THIS			
	100/Box 10Box/Case			<u> </u>
Packaging:				
MFG/Brand	C400			
Product No				
Variances,	if any:	· · · · · · · · · · · · · · · · · · ·		
19 NITRILE DIS	POSABLE GLOVES, BLACK, 6 MIL.	2,000 GLOVE(S)	0.07	140.00
EXCEPTION]	
EXAM GRAD				ı
NON-LATEX	_			
POWDER FR	FF.			
				ł
SIZE: 2X-LAF				ì
OIZE. ZATEN	· · · · · · · · · · · · · · · · · · ·			I
**SAMPLES	REQUIRED AT TIME OF BID FOR THIS			l l
ITEM				I
Packaging:	90/Box, 10Box/Case		1	
MFG/Brand	- Emerald			
Product No				
Variances,	if any:			
·			· · · · · · · · · · · · · · · · · · ·	
			1	
				1
				1

County or Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



KFB# F-24-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
20	NITRILE DISPOSABLE GLOVES, BLACK, 8 MIL. INDUSTRIAL GRADE UNPOWDERED 9.5" LONG TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: XL **SAMPLES REQUIRED AT TIME OF BID FOR THIS	100 GLOVE(S)	0.14	14.00
	ITEM			
	Packaging: 50/Box, 10Box/Case			
	MFG/Brand: Emerald			
	Product No: 2707			
	Variances, if any:			
21	FOOD SERVICE GLOVES, POLYETHYLENE, DISPOSABLE, LATEX AND POWDER FREE, CLEAR, SIZE X-LARGE **SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM Packaging: MFG/Brand: Product No: Variances, if any:	72,000 GLOVE(S)	0.01	720.00
VOR	VUTILTY GLOVES LEATHER, COTTON, KNIT	PLES REQUIRED AT TIME OF BID FOR THIS kaging: 50/Box, 108ow/Case Emeraid 2707 ances, if any: SERVICE GLOVES, POLYETHYLENE, SABLE, LATEX AND POWDER FREE, CLEAR, (-LARGE PLES REQUIRED AT TIME OF BID FOR THIS kaging: 500/Box, 208ow/Case Emeraid HDP8501 ances, if any: Y GLOVES LEATHER, COTTON, KNIT ES, BROWN JERSEY COTTON, UNLINED, 9 OZ., JM WEIGHT kaging: 25 Doz Pair/Case (300Pair/Case) Emeraid duct No: 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case) Emeraid 25 Doz Pair/Case (300Pair/Case)	e e e	
22	GLOVES, BROWN JERSEY COTTON, UNLINED, 9 OZ., MEDIUM WEIGHT	186 PAIR(S)	0.68	126.48
	Dockoging: 25 Doz Pair/Case (300Pair/Case)			_
				
	Product No: 25BJTAG			
	Variances, if any:			
23	GLOVES, BROWN JERSEY COTTON, LINED, 14 OZ., HEAVY WEIGHT, GUNN CUTT	486 PAIR(S)	0.99	481.14

KFB# F-24-2024

REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH **DECEMBER 31, 2024**

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
·	Packaging: MFG/Brand: Product No: Variances, if a	12 Doz Pair/Case (144Pair/Case) Emerald C904TAG any:			
24	·	NG KNIT WITH FULL PALM COATING NGER TIPS, BLUE LATEX	198 PAIR(S)	0.58	114.84
	Packaging: MFG/Brand: Product No: Variances, if a	30Bag of 10Pair/Case, (300Pair/Case) 121 any:			
25		NG KNIT WITH FULL PALM COATING NGER TIPS, BLUE LATEX	498 PAIR(S)	No Bid	
	Packaging: MFG/Brand: Product No: Variances, if a	any:			
26	IMPACT STYLE SIZE: MEDIUM	WORK GLOVE	36 PAIR(S)	12.50	450.00
	Packaging: MFG/Brand: Product No: Variances, if a	Pair Magid TRX400-M any:			
27	IMPACT STYLE SIZE: LARGE	WORK GLOVE	144 PAIR(S)	12.50	1,800.00
	Packaging: MFG/Brand: Product No: Variances, if a	Pair Magid TRX400-L any:	 	L	1
28	IMPACT STYLE SIZE: X-LARGE	WORK GLOVE	132 PAIR(S)	12.50	1,650.00

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



KFB# F-24-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH

TEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if a	Pair Magid TRX400-XL			
	IMPACT STYLE SIZE: XX-LARG		12 PAIR(S)	12.50	150.00
	Packaging: MFG/Brand: Product No: Variances, if a	Pair Magid TRX400-XXL		<u> </u>	· · · · · · · · · · · · · · · · · · ·
30	IRONCLAD CON SIZE: MEDIUM COLOR: BLACK	MMAND IMPACT GLOVE	17 PAIR(S)	25.09	426.53
	SYNTHETIC SU BREATHABLE F TPR BACK OF F THUMB SADDL TERRY CLOTH ANSI CUT RATI ANSI ABRASIOI ANSI PUNCTUR GRIP RATING: I	NG: A2 N RATING: 3			
	Packaging: MFG/Brand: Product No: Variances, if a	Ironclad IPW-GUG-03-M			

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH

EN#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	IRONCLAD COMMAND IMPACT GLOVE	101 PAIR(S)	25.09	2,534.09
	SIZE: LARGE		20.00	12,00 1.00
	COLOR: BLACK			
	REINFORCED TOUCHSCREEN PERMISSIVE			
	SYNTHETIC SUEDE PADDED PALM			1
	BREATHABLE POLYESTER KNIT BACK OF HAND			
	TPR BACK OF HAND IMPACT PROTECTION			
	THUMB SADDLE REINFORCEMENT			
	TERRY CLOTH SWEAT WIPE			
	ANSI CUT RATING: A2			
	ANSI ABRASION RATING: 3			
	ANSI PUNCTURE RATING: 3			
	GRIP RATING: DRY 4/5, WET 4/5, OILY 4/5			1
	Packaging: Pair	<u></u>	 	
	MFG/Brand: Ironclad	···		
	Product No: IPW-GUG-04-L			
	Variances, if any:	_		
32	IRONCLAD COMMAND IMPACT GLOVE	124 PAIR(S)	25.09	3,111.16
	SIZE: X-LARGE			ł
	COLOR: BLACK			
	REINFORCED TOUCHSCREEN PERMISSIVE			
	SYNTHETIC SUEDE PADDED PALM			
	BREATHABLE POLYESTER KNIT BACK OF HAND			
	TPR BACK OF HAND IMPACT PROTECTION			1
	THUMB SADDLE REINFORCEMENT			
	TERRY CLOTH SWEAT WIPE		·	
	ANSI CUT RATING: A2			
	ANSI ABRASION RATING: 3			
	ANSI PUNCTURE RATING: 3			1
	GRIP RATING: DRY 4/5, WET 4/5, OILY 4/5			
	Packaging: Pair		<u> </u>	
	MFG/Brand: Ironclad			
				
			25.09	
	Product No: PW-GUG-05-XL PW-GU	_		

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH **DECEMBER 31, 2024**

	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
3 IRONCLA SIZE: XX- COLOR: E		35 PAIR(S)	25.09	878.15
SYNTHET BREATHA TPR BACI THUMB S. TERRY CI ANSI CUT ANSI ABR ANSI PUN GRIP RAT Packagi MFG/Br. Product	and: Ironclad	•		
4 LEATHER SAFETY (WORK GLOVES	331 PAIR(S)	15.08	4,991.48

County of Wonmouth

REQUEST FOR BID

---- This Is Not An Order ----



KFB# F-24-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH **DECEMBER 31, 2024**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
35	LEATHER WORK GLOVES	387 PAIR(S)	No Bid	
	SAFETY CUFF		110 5.4	l
	SPLIT COWHIDE, KEVLAR STITCHED			l
	LEATHER-WRAPPED FINGERTIPS			1
	KNUCKLE STRAP FOR ABRASION PROTECTION			ŀ
	DOUBLE PALM WITH EXTRA LAYER OF LEATHER IN			
	HIGH-WEAR AREAS			i
	COTTON BACK			ļ
	ABSORBENT FLEECE LINING SEWN INTO THUMB AND			
	FOREFINGER			
	GLOVE LEATHER GRADE: A			l
	GUNN CUT			ł
	THUMB STYLE: WING			
	NOT INSULATED		į	
	SIZE: X LARGE			<u> </u>
	Packaging:	_		
	MFG/Brand:	-		
	Product No:	-		
	Variances, if any:	_		

TOTAL	
-------	--

43,439.67

Various Delivery Locations:

Division of Highway **Public Works Complex** 250 Center Street Freehold, NJ 07728 Cassandra Deckle 732-431-6550

Buildings & Grounds/Trades **Special Services Complex** 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136

Division of Fleet Services Public Works Complex 250 Center Street Freehold, NJ 07728 Joe Ponisi - x7165 or Kyle Dodig - x7164 732-431-7830

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----

DESCRIPTION



KFB# F-24-2024

TOTAL PRICE

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

UNIT PRICE

QUANTITY/UNIT

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH **DECEMBER 31, 2024**

Division of Shade Tree **Special Services Complex** 300 Halls Mill Road Freehold, NJ 07728

ITEM#

Cassandra Deckle 732-431-7903

Sheriff's Office - Correctional Institution P.O. Box 5007 1 Waterworks Road Freehold, NJ 07728 Jeff Sauter 732-431-7860 x1203

Health Department Veteran's Memorial Building 50 East Main Street Freehold, NJ 07728 Denise Richardson 732-431-7456 x2725